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Part A:  Date, time and arrangement (15 bits: 15 Marks) 
 
 
Part B:  Coding and decoding Problems (20 bits: 20 Marks) 
 
 
Part C:  Problem solving (Numerical Aptitude)  (25 bits: 25 Marks) 
 

 
1. 28% of 450 + 45% of 280 = ? 
 (a) 126 
 (b) 252 
 (c) 324 
 (d) 212 
 (e) None of these 
  
 
2.In a certain code language, the word ENQUIRY is written as YRIUQNE.   How will the word 
REQUIRE be written in the code language ? 
 (a) QERUERI 
 (b) REQUERI 
 (c) ERIUQER 
 (d) IREUQER 
 (e) None of these 
  
 

3. Six friends A, B, C, D, E and F are sitting in a closed circle facing the center. A is facing D. C is 
between A and B. F is between E and A. Who is to the immediate left of B? 

A) C    B) D     C) A    D)  F 
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